KA & Kofl

M gu

B XOXDfEE KD I 0,

Om=-6,n=40& %

m

n

@y=30nL %
5y°+5

®a=8ntL %
3(a+2)

@x=7,y=-3,z=—6D &L %
xy+8z—9

®a=—-6,b=3 DL %
a*+7b—2

©®t=4 D& %
—9(—5—1¢%

Ds=—-9,t=20L %
s—t
9

®t=2n¢ %
6+t
8

@s=-3,t=60D& %

s%t

Ws=3DL %
s2+2
2

Wx=—5,y=—9,z=8DL %
x+tyz—3

@Qx=—30DL %
—x*+5

®a=6,p=3 DL %
a+2b*+38

Wx=—7T0& %
x*—5x+5

/21

Bm=—-6,n=10&¢ %

mn

®a=—8DL %
—7+3a®

Wx=—-6,y=1D& %
2x—y

®a=7,pb=9 DL %
Tab

Wx=1,y=—9 DL %
—8(x+y)

@x=2,y=3,z=6DL %
—3xyz

@a=20DL %
—5(—7—9a)




KA & Kofl

M gu

B XOXDfEE KD I 0,

Om=-6,n=40& %

_m
n
_3
2
@y=30nL %
5y°+5
50
®a=8ntL %
3(a+2)
30
@x=7,y=—3,z2=—6D& %
xy+8z—9
—-78
®a=—6,b=3DL %
a*+7b—2
55
©t=4D& %
—9(—5—1¢%)
189

Ds=—-9,t=20L %
s—t
9

®t=2n¢ %

6+t
8

@s=-3,t=60D& %

5%t

54

Ws=3DL %
s2+2
2

Wx=—5,y=—9,z=8DL %
x+tyz—3

—80

@x=—-30n& %
—x*+5

32

®a=6,p=3 DL %
a+2b*+38

32

Wx=—7T0& %
x*—5x+5

89

/21
Bm=—6,n=1D& %
mn
6
-1
®Wa=—-8n & %
—7+3a?
185
Wx=—-6,y=1D& %
2x—y
—13
®a=7,b=9DL %
Tab
441
Wx=1,y=—9 DL %
—8(x+y)
64
@Wx=2,y=3,z=6 D& &
—3xyz
—108
@a=20DL %
—5(—7—9a)
125




